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STG- 1 Ut 13 6 6 47 m’ 9,977 9,757 3,927 23,661 2.24
STG- 2 it 15 6 6 45 m’ 11,497 9,757 4,003| 25,257 2.47
STG- 3 13 6 6 47 m’ 11,083 16,308 6,330] 33,721 2.24
STG- 4 | Of~ZE | zlytst 15 6 6 45 m’ 12,603 16,308 6,406| 35,317 2.47
STG- 5 36 24 6 114 | m? 12,552 20,664 7,946 41,162 2.82
STG- 6 — 42 30 10 m 4,102 14,120 5,192| 23,414 0.85
STG- 7 === 1 108 | 100 10 m 7,195 17,231 6,457 30,883 2.44
STG- 8 B 13 6 6 47 m’ 18,760 12,417 5,327 36,504 2.24
STG- 9 sluiat 13 6 6 47 m’ 19,735 18,304 7,441 45,480 2.24
STG-10 | 2age | =°° 36 24 6 114 | m? 21,396 22,187 8,033| 53,016 2.82
STG-11 . 42 30 6 m 5,132 16,742 6,154] 28,028 0.51
STG-12 “== 1 108 | 100 6 m 10,897 22,190 8,384| 41,471 1.47
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S B 9 X 4 x 51 m 5,217 7,004 2,756 14,977 1.41
M 25T Slurat 9 X 4 x 51 m 6,392 14,120 5,306 25,818 1.41
M 353 P == 30 X 5 X 120 m 7,958 17,401 6,563 31,922 2.35
M 453 = P 36 % 10 m 2,772 10,576 3,897 17,245 0.85
M 533 [;Xj?)” 60 X 10 m 3,308 12,897 4,765 21,470 1.471
M 653 A 108 %X 10 m 5,588 15,522 5,766 26,876 2.54
M 7% B 9 X 4 x 5] m 9,830 10,541 4,202 24,573 1.41
M 8s slofsk 9 X 4 x 5] m 10,693 15,677 6,076 32,446 1.41
M osE | 23elE - 36 X 5 m 3,702 14,120 5,172 22,994 0.42
M10&s= [E'Dxrlon 60 X 5 m 4,973 16,308 6,024 27,305 0.71
M1 TAE 108 X 5 m 7,179 18,471 6,388 32,538 1.27
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M1s% ofreE 150 X 150 X 9 m 8,411 6,748 2,683 17,842 1.90
M2s = 23e|E 150 X 150 X 9 m 12,920 11,978 4,617 29,515 1.90
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M1s3E ofrze 200 X 5 m 8,259 5,130 2,235 15,624 2.35
M2s T 232|E 200 X 5 m 11,723 10,270 4,241 26,234 2.35
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M1s% oprge 400 % 180 X 13 | m 4,360 2,301 658 7,319 4.90
M2s® 23e|E 400 X 180 X 13 | m 6,651 5,679 1,396 13,726 4.90
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